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ga (y) 162 170 158 172 166 y = 165.6

ASEE (X)) 62 75 50 56 70 X = 626
XiYi 10044 12750 7900 9632 11620 Sum= 51946
; 3844 5625 2500 3136 4900  Sum= 20005
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2. X;y; —nxy 51946 — 5 X 62.6 X 165.6

> f = = 0.2753
g Y x2 — ni? 20005 — 5 X 62.62

By =9 — By = 165.6 — 0.2753 X 62.6 = 148.366
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ARERE) 1 1 1 2 4 4 5
BunliER(y) 568 577 652 657 755 759 840 832
577 652 1314 3020 3036 4200 4992 Sum= 18359
16 25 36 Sum= 100
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. y; —nxy 18359 — 8 x 3 x 705
(1) B = lezl et A = 51.393
> X5 — nx? 100 — 8 x 32

By =9 — B;% = 705 — 51.393 x 3 = 550.82

y = 550.82 + 51.393 x
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(2) B FREEIRE { DBy = 0 (R TR BT
By # 0 (R TRE N E AR TT)
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BE(x) 390 700 760 500 560 600 440 500 360 280

EfE(y) 280 480 650 320 380 500 200 200 230 130
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BE#((x 390 700 760 500 560 600 440 500 360 280 509
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EfE(y) 280 480 650 320 380 500 200 200 230 130 337

<A
I

x;y; 109200 336000 494000 160000 212800 300000 88000 100000 82800 36400 Sum= 1919200

xi2 152100 490000 577600 250000 313600 360000 193600 250000 129600 78400 Sum= 2794900

yj2 78400 230400 422500 102400 144400 250000 40000 40000 52900 16900 Sum= 1377900

~ XXy —nxy 1919200 — 10 x 509 x 337
(1) ,81 _ iVi y .

= = 0.9989
> xf — ni? 2794900 — 10 x 5092

Bo =7 — B1% =337 — 0.9989 x 509 = —171.45

= G AENAS y=-17145+0.9989x
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= 1377900 — (—171.45) x 3370 — 0.9989 x 1919200 = 38597.62
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= VYL 0'705,8 N ' 10 2794900 — 10 x 5092

= 278.06 + 2.036 X 23.765 = [229.674,326.446]
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= 278.06 + 2.036 x 73.413 = [128.59,427.56]
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FE(x) 8 6.2 /1 755 875 815 1025 96 113 7.7 x= 8.46
#ea() 138 33 48 50 54 56 62 65 71 83 y= 54
Xy 144 2046 3408 3775 4725 454 6355 624 8023 6391 Sum=  4696.7
x2 64 3844 5041 57.0025 76.5625 66.4225 105.0625 9216 127.69 59.29 Sum=  737.04
y? 324 1089 2304 2500 2916 3136 3844 4225 5041 6889 Sum= 32268
(1) 8, = 2. Xy —nxy 4696.7 — 10 x 8.46 X 54 6017

Yx?—nx2  737.07 — 10 X 8.462

Bo =9 — B1% =54 —6.017 x 8.46 = 3.096

2> GMEERESENS y=3.09+6.017x
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